


Primov algoritmus

S := {s};
T := empty set;
while S<>V do
e := (u,v) such that u is in S, v is not in S and (%)
w(e) is smallest possible;
add v to S;
add e to T;

return T;



S := {s};
T := empty set;
// initialize data structure
for each u not in S
dist[u] := w(s,u); other[u] := s;
// main computation
while S<>V do
v := vertex which is not in S and has the
e := (v, otherl[v]);
add v to S; add e to T;
// update data structure
for each x not in S
if w(v,x)<dist[x] then

dist[x] := w(v,x);
other[x] := v;
return T;

smallest dist[v];
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